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Grade 4 Math Worksheet: Subtraction (Difficulty Level: Easy)

Name:
Date:

Part 1: Simple Subtraction
Solve the following problems:

978 - 452 =
2,379 -1,045 =
1,578 - 356 =
4,676 - 1,232 =
1,958 - 734 =
3,678 - 1,235 =

I

Part 2: Subtraction with Borrowing
Solve the following problems, remember to borrow when necessary:

3,978 - 2,461 =
5,623 - 3,295 =
6,831 - 2,487 =
4,257 - 1,936 =
8,910 - 5,475 =
9,302 - 4,716 =
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Part 3: Word Problems
Read the word problems carefully and solve them:

1. There are 2,870 students in a school. 1,534 students are present today. How
many students are absent?
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2. Alibrary had 3,982 books. 1,768 books were checked out. How many books are
still in the library?
3. A store had 8,102 toys. After selling 3,467 toys, how many toys are left?

Bonus Challenge

1. There were 5,320 tickets sold for a concert. After the concert, 2,148 tickets were
returned. How many tickets are still in the box office?
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